a2471 J10475385 02dec10 (AST) 2xPolA freq:4325.
T

100 ‘ \

50
>
= 0
€ C \ i \ \ i \ \ i ]
B i i i i \ i \ \ i ]
=50 — i i i i \ i \ \ i .
B i i i i \ i \ \ i ]
—100LC ] i ] i ] | ]
0 1000 2000 3000 4000 5000 6000
tmResSecs: 0.900 sample points
scanfitDeg:2 02471 J10475385 02dec10 (AST) 2xPolA freq:4466.
100 T T l T ‘ T l T ‘ T l
- i i i i \ i i i i .
B i \ i \ i i \ \ i .
50 \ ‘ ‘ ‘ ! i
- \ \ \ \ \ \ \ \ \ N
_ - | | | | | | | | | N
= oW | | ‘ ’
€ C \ \ \ \ \ i \ i ]
B \ \ i \ \ i i i i ]
=50 — \ \ i \ \ i i i i .
B \ \ i \ \ i i i i ]
—100C o i o i L | ]
0 1000 2000 3000 4000 5000 6000
sample points
a?2471 J10475385 02dec10 (AST) 2xPolA freq:4608.
100 T T l T ‘ T l T ‘ T l
- i i i i \ i i i i .
sof | i i i i i i i -
- \ \ \ \ \ \ \ \ \ N
_ - | | | | | | | | | N
= ow | | ‘ "
€ C \ \ \ \ \ i \ i ]
B i \ i \ \ i i i i ]
=50 — i \ i \ \ i i i i .
B i \ i \ \ i i i i ]
—100LC ] i ] i ] | ]
0 1000 2000 3000 4000 5000 6000
sample points
a?2471 J10475385 02dec10 (AST) 2xPolA freq:4750.
100 T l T ‘ T l T ‘ T l
- i i i \ i i i i .
B \ \ \ \ i \ \ i .
50 ‘ ‘ ‘ ‘ ‘ —
- \ \ \ \ \ \ \ \ N
_ - | | | | | | | | N
= op ‘ ’
£

—-50

—100 \

2000 3000 4000 5000 6000
sample points

@]
o L
o
o



a2471 J10475385 02dec10 (AST) 2xPolA freq:4892
T

100 T T T ‘ ‘ \‘

I T
\ \
| |
50 ‘ ‘
\ \

millidy

—-50

—100

0 1000 2000 3000 4000 5000 6000
tmResSecs: 0.900 sample points

scanfitDeg:2 02471 J10475385 02dec10 (AST) 2xPolA freq:5034.
100 \ T \ i \ T \

I T
\ \
| |
50 ‘ ‘
\ \

—-50

—100

3000 4000 5000 6000
sample points

@]
o L
o
o
N
]
o
o

a2471 J10475385 02dec10 (AST) 2xPolA freq:5176
T T

100 T T T ‘ \‘

I T
\ \
| |
50 ‘ ‘
\ \

millidy
o

—-50

|
|
|
~100 |

3000 4000 5000 6000
sample points

@]
o L
o
o
N
]
o
o



02471 J10475385 02dec10 (AST) StokesQ freq:4325.

T = RN E T T T[T T ] T 11 F T TTI]] T T 1 T[T 0]
— | = I
(@] (@] (@]
‘‘‘‘‘‘ — .. _._.1o° I — .. _._.1o I . ._ .o I — .
o o o
(<o) (<o) (<o)
\\\\\\\\ I ot == ot = ot __—=F
(@) (@) Ip]
(@] ¥ (@] © (@] ™~
L 1g S 1g L 1g S
o o o o o o
|- |- |-
e 1 e e e~ 1 R e R eer— S 1 R e e
O O O
0 0 0
) ) )
~ ~ ~
= 2 S 2 S 2
L = —~3 Nk - == —~3 72 3 N —~3 Nk ===
<+ ~ <+ ~ <+ ~
%] %] %]
[oN [oN [oN
\\\\\\\\ = . ] ot --— - - -4 J O =— - - -4 | Ol = - -
a a a
) ) )
[ ] % £ O [ i % € O [ 4 % £ O L
oy © oy © oy ©
M o~ M N M N
(@) (@) (@)
() () ()
00 00 00
) ) )
[I9] [I9] [I9]
P~ P~ P~
3 ~ S < = <
e 1 O [N — T o or T TmM—/—ms -1 o or T TTTmM—/—e—==
= — N — N —
il il il
P~ P~ P~
< < <
‘‘‘‘‘‘‘ — Q] CTT T T T Q] CTT T T T Q] T T T
o) o) o)
(@] (@] (@]
L 41 O L 1 O L 1] O L
o o o
(@)
. (@] . b . b _
N
(@]
o\,
= n o —— —
| [ =——— T o % O T o | [ ——————————=o o MWMWWWWHHH"““
o (@] (@] (@] o O o (@] (@] (@] o o (@] (@] (@] o o (@] (@] (@] o
< ~ ~ < § = < N Y < < N Y < < ~ ~ <+
| | (' | | | | | |
[0)
-
Apiiw M o Apiiw Apiiw Apiiw
+— 0

3000 4000 5000 6000
sample points

2000

1000




02471 J10475385 02dec10 (AST) StokesQ freq:4892.

Apipiw

6000

5000

4000

3000

2000

1000

sample points

0.900

tmResSecs:

02471 J10475385 02dec10 (AST) StokesQ freq:5034.

scanfitDeqg:2

Apipiw

6000

5000

4000

3000

2000

1000

sample points

02471 J10475385 02dec10 (AST) StokesQ freq:5176.

Apipiw

6000

5000

4000

3000

2000

1000

sample points



az247/71 J1047/5385 OZdecWO (AST) StokeSU freq 43525.

(&N
(@]

N
(@]

I
(@)
© HHHH\‘HH\HH‘HHHH\ HHHH‘HHHH\‘\HHHH

(@)

(@]

I
N
o

I
o
o

1000 2000 3000 4000
tmResSecs: 0.900 sample points

scanfitDeg:2 02471 J10475385 02deciO (AST)SﬁokesU freq:4466.

30; E
20E- E
10E- E

=Y = E
= op =
-10E- =
—20E E
_30E ‘ 3

0 1000 2000 3000 4000 5000 6000
sample points
a247/71 J10475385 OZdecWO (AST) Stokesu freq 4608.

30 E 3
20E- E
10E- E

=Y = E
= 0OF =
-10E- =
—20E E
_=0E ‘ E

0 1000 2000 3000 4000 5000 6000

sample points

az247/71 J1047/5385 OZdecWO (AST) StokeSU freq 4750.

(&N
(@]

N
(@]

I
(@)
© HHH\H‘\HHHH‘HHHH HHH\\‘H\HHH‘H\HHH

(@)

(@]

I
N
o

I
o
o

1000 2000 3000 4000 5000 6000
sample points



az247/71 J1047/5385 OZdecWO (AST) StokeSU freq 4892.

(&N
(@]

N
(@]

I
(@)
© HHH\H‘\HHHH‘HHHH HHH\\‘H\HHH‘H\HHH

(@)

(@]

I
N
o

I
o
o

1000 2000 3000 4000 5000 6000
tmResSecs: 0.900 sample points

scanfitDeg:2 02471 J10475385 02deciO (AST) StokesU freq:5034.

(&N
(@]

N
(@]

I
(@)
© HHH\H‘\HHHH‘HHHH HHH\\‘H\HHH‘H\HHH

(@)

(@]

I
N
o

I
o
o

1000 2000 3000 4000 5000 6000
sample points

az247/71 J1047/5385 OZdecWO (AST) StokeSU freq 5176.

N (&N
(@] (@]

I
(@)
© HHHH\‘HH\HH‘HHHH\ HHHH‘HHHH\‘\HHHH

(@)

(@]

I
N
o

I
o
o

1000 2000 3000 4000 5000 6000
sample points



a2471 J10475385 02dec10 (AST) StokesV freq 43525.

20F =
10 E
> = 3
= oM w
€ = =
-0 =
0 1000 2000 3000 4000 5000 6000
tmResSecs: 0.900 sample points
scanfitDeg:2 02471 J10475385 02dec’0 (AST) StokesV freq:4466.
20E T T l T T T l -
E | | | | | | | | | 3
o | | | | | | | | | E
= | | | | | | | | | 3
_ E | | | | | | | | | =
= oW ‘ :
€ E \ \ i \ \ i \ \ i 3
= \ \ i \ \ i \ \ i 3
—10E | | | | | | | | | E
E | | | | | | | | | e
—20E ] ! RN ! RN J 3
0 1000 2000 3000 4000 5000 6000
sample points
a247/71 J1047/5385 OZdeCWO (AST) Stokesv freq 4608.
20E T T l T T T l -
E | | | | | | | | | 3
o | | | | | | | | | E
= | | | | | | | | | 3
_ E | | | | | | | | | =
= om ‘ ‘ ‘ oy
€ = | | | | | | | | | =
E | | | | | | | | | 3
—10E \ \ i \ \ i \ \ i E
E | | | | | | | | | e
—20E ] ! RN ! RN J 3
0 1000 2000 3000 4000 5000 6000
sample points
a247/71 J1047/5385 OZdeCWO (AST) Stokesv freq 4750.
20E T T l T T T l -
E | | | | | | | | | 3
o | | | | | | | | | E
= | | | | | | | | | 3
_ E | | | | | | | | | =
= oM ‘ ‘ ‘ 7
€ = | | | | | | | | | =
= \ \ i \ \ i \ \ i 3
—10E | | | | | | | | | E
E | | | | | | | | | e
—20E ] ! RN ! RN J 3
0 1000 2000 3000 4000 5000 6000

sample points



a2471 J10475385 02dec10 (AST) Stokes\/ freq 4892.

20

(@)
HHHH‘\HHHH

I
(@)
HHH\H‘HHHH

—20

HHHH\‘HHHH\SHHHH‘HHH\H

O

tmResSecs: 0.900

scanfitDeqg:2

2000 3000 4000 5000
sample points

az2471 J10475385 O2decWO (AST) Stokes\/ freq 5034.

20

(@]
HHH\H‘HHHH\‘H\HHH‘\HHHH

—20

O

1000

2000 3000 4000 5000
sample points

az2471 J10475385 O2decWO (AST) Stokes\/ freq 517/6.

20

(@]
HHH\H‘HHHH"“HHHH‘H\HHH

—20

O

1000

2000 3000 4000 5000
sample points



